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Fall '09/MAT 140/ Worksheet 4 Name: c'/ou

Show all your work.

1. (8pts) Solve the inequalities. Draw your solution and write it in
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2. (6pts) Find all the solutions of the equation.
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3. (dpts) The weight of packages of sugar coming from a factory is 32(£0.35) ounces. Write
an absolute value inequality about weight w that expresses this fact and solve this inequality.
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4. (Gpts) Let A = (—3,1), B = (1,2), € = (—1,9). Sketch the triangle ABC in the
coordinate systerri and determine (algebraically) whether it is a right triangle.
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5. (6pts) Use your graphing caleulator to accurately draw the graph (on paper!) of y =
a® + 527 — 172 — 5. Determine the 2- and y-intercepts (with 4-decimal-point accuracy) and

indicate the scale on the graph.
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